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) SIERHO FinlZBET 51 SfERHA
ﬁﬁg TREOBHOEILADKRES TREDOHEBSSLODKRES TREOBBOSILADKRES TREDHFESILNIDOKRES
=] = P HVE Er U HVE Tl = = DV = DV =3 =3
1 100kN/mM##BZ % - -~ - -|3m%EiEZS -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#EFB2 3 -~ - - -
ZThES 1.00/ 000 ~ 462 57.63] #hbList | 000 ~ 462| 187 9.43 Zh st 1.00] 500 ~ 500 57.63| #hbList | 500 ~ 500| 1.87 9.43
9 100kN/mM#%#BZ % - -~ - -|3m%EiEZS -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
Zh LS 1.00/ 000 ~ 6.41 80.71| #hbist 000 ~ 641| 1.82 9.19 Zh st 1.00] 500 ~ 764 80.71| #hbist | 500 ~ 7.64| 182 9.19
3 100kN/mM#%#BZ % -1 -~ - -|3mEBzZ| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 6.14 77.04] FhList | 000 ~ 6.14] 207 10.46 Zh st 1.00|] 500 ~ 867 77.04] #hbist | 500 ~ 867| 207 10.46
4 100kN/mM#%#BZ % -1 -~ - -|3mEB2Z| - ~ - - -| 100kN/mZ#B 25 - -~ - -|13m%i#Bz2% -~ - - -
ZTh LS 1.00] 000 ~ 453 56.53] #hList | 000 ~ 453] 232 11.72 Zh st 1.00] 500 ~ 796 56.53| #hbList | 500 ~ 7.96] 232 11.72
5 100kN/mM#%# 8% % -1 -~ - -|3mzEB2Z| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
Zh LS 1.00/ 000 ~ 7.06 89.59] #hList | 000 ~ 7.06] 1.90 9.59 Zh st 1.00] 500 ~ 924 89.59| #hbList | 500 ~ 9.24] 1.90 9.59
100kN/mM#%#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZThLS ~ ZHLS ~ LS ~ LS ~
100kN/mM#%#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh LS ~ LS ~ ZhLst ~ Zh LS ~
100kN/mM##BZ 5 ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ LS ~ ZhLst ~ Zh LS ~
100kN/mM#%#BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ s ~ st ~ Zh LS ~
100kN/m#%#BZ % ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ LS ~ ZhLst ~ Zh LS ~
100kN/mM%#BZ % ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ s ~ ZhLst ~ Zh LS ~
100kN/mM#%#BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Zh LS ~ ZnLlst ~ Zhst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnLlst ~ Zhst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnLlst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh s ~ Zh st ~ |
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